ITEM UNIT | QTY A DESCRIPTION (HASTELLOY)

1 NO | 2000 |UNIVERSAL CLAMP ONE WAY 5-19 MM, MATERIAL: HASTELLOY G30

2 NO | 2000 |WASHER 32/11*2, MATERIAL: HASTELLOY G30

3 NO | 5000 |BOLT, M10*20, MATERIAL: HASTELLOY G30

4 NO | 1200 |BOLT, M10*30, MATERIAL: HASTELLOY G30

5 NO | 1000 |BOLT, M10*50, MATERIAL: HASTELLOY G30

6 NO | 10000 | NUT, M10, MATERIAL: HASTELLOY G30

7 NO 800 | SLIDE FASTENER WASHER, MATERIAL: HASTELLOY G30

8 NO 800 | SLIDE FASTENER, MATERIAL: HASTELLOY G30

9 NO 120 | MANYWAY BOLT, M10*50, FLLATED, MATERIAL: HASTELLOY G30
ITEM UNIT QTY | DESCRIPTION (ZIRCOUNIUM)

1 NO | 2000 | UNIVERSAL CLAMP ONE WAY 5-19 MM, MATERIAL: ZR-702 (ZIRCOUNIUM)

2 NO | 2000 | WASHER, DIA: 32/11*2, MATERIAL: ZR-702 (ZIRCOUNIUM)

3 NO | 5000 |BOLT, M10*20, MATERIAL: ZR-702 (ZIRCOUNIUM)

4 NO | 1200 |BOLT, M10*30, MATERIAL: ZR-702 (ZIRCOUNIUM)

5 NO | 1000 |BOLT, M10*50, MATERIAL: ZR-702 (ZIRCOUNIUM)

6 NO | 10000 | NUT M10, MATERIAL: ZR-702 (ZIRCOUNIUM)

7 NO 800 | SLIDE FASTENER WASHER, MATERIAL: ZR-702 (ZIRCOUNIUM)

8 NO 800 | SLIDE FASTENER, MATERIAL: ZR-702 (ZIRCOUNIUM)

9 NO 120 | MANYWAY BOLT, M10*50, FLATTED MATERIAL: ZR-702 (ZIRCOUNIUM)

10 NO | 2000 | WASHER, DIA: 21/10.5*2, MATERIAL: ZR-702 (ZIRCOUNIUM)




